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(A) wi® &G (B) woft (C) s¥® HAG (D) Wi
2. qRods forgmtt avg SiE TEdar 99w siomr ?
(A) TERO1 x ATHaA (B) T x @A
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(A) TEIRTHH (B) TeRITHH
(C) H=amETsH (D) sgHIaisH
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TEHEIAN. HIUET IsA ?
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‘TEREEY A qEEE WS BT IRA 9

(A) 7. & AR (B) S®A ATSIEHT

(C) wredt Tt (D) T AR

e T qub

q FEET AR........

(A) FER (B) @R (C) ufam (D) ¥R

‘G AT I\ HAEET BT BSA 9

(A) =T (B) =18 (C) Trg (D) w18
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18. 3R dfde 2 Hivrr I d9ed TE @ ¢

(A) geHRmEr (B) frepiem (C) s (D) SiEHTT

19. UEIAUH JF A& BOET ?
(A) erfe=an (B) erffasar (C) s (D) ergfaeam
20, ‘S W T W SR RS AT GRS 1 BIOET IE 2

(A) P15 (B) wisIies
(C) IAATAHIE (D) =1 AHTS
21. TEAAS g5 WHEE ISR AEAAT 94 o ?
(A) 9T (B) Hict®s (C) Tadiaig (D) Fgraroft
73, ‘ﬁgﬂ;mqﬁﬁ’mmwﬁaaﬁﬁaaamwm?
(A) Heelt wEAH (B) JTHATAS |IATH
(C) fR=a wda™ (D) qoYaTas WIAH
23, R GRSEA® AT SOTRT 2008 W7 RAT (R HIOTAT S04 AT ?
(A) st 7 TR (B) SRS QRS
(C) €. fagswr ™ (D) 1. 4. HEHIX
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24.

25.

26.

27.

28.

29,

30.

RIS @ad Tfenll $7 FGOR AT Ao
(A) garR (B) ™% (C) asor (D) =

RISl WU e 9 g9UI IS0 SR 9
(A) FHER (B) gul=x (C) AR (D) 3res

W - 2 : Ui
The phobia about ‘poverty’ or ‘money’ problem is called :
(A) Androphobia (B) Peniphobia
(C) Theophobia (D) Ergophobia

Choose the correct alternative of verb :

Ketaki hopes, she pending work by five today.

(A) will have completed (B) will completed

(C) will have been completed (D) will be complete

Choosé the correct ‘question tag’ to the given sentence :

‘Manasi ventured to obstruct my path.’

(A) ventured not she ? (B) wasn’t she ?

(C) didn’t she ? (D) didn’t Manasi ?

Choose the correct opposite of :

‘Commodious’

(A) numerous (B) leisurely (C) limited (D) expensive

Choose the part of the given sentence has an error. If no error, the answer is (d).

The wife is not / yet acquainted with / her husband’s liking / No error
a b € d

(A) a (B) b (C) ¢ (D) No error

[S-1/6-B]
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31.

32.

33.

34.

3s.

36.

Choose the correct degree sentence/sentences from the given
“Mumbai is one of the richest towns.”

(A) Mumbai is richer than many other towns.

(2) Mumbai is richer than any other town.

(3) Very few towns are as rich as Mumbai.

(4) Very few town is as rich as Mumbai.

(A) Only 1 (B) 1 and 4 (C) Only 3
Choose one word substitution for the given :

‘One who does not believe in God'.

(A) Atheist (B) Orthodox (C) Religious
Identify the figures of speech in the given line :

‘Fools rush in where angels fear to tread.’

(A) Epigram (B) Pun (C) Irony
Choose the correct ‘Passive Voice’ sentence of the given :
‘We keep our jewellery in the bank.’

(A) Our jewellery is kept in the bank by us.

(B) Our jewellery was kepf in the bank by us.

(C) Our jewellery were keep in the bank by us.

(D) Our jewellery is keep in the bank by us.

Choose the correct spelt word :

(A) Leutenant (B) Lieutinant (C) Lieutenant

Rearrange the parts (PQRS) to form the correct sentence :

(P) will normally be granted
(Q) candidates should note
(R) that no request for

(S) change of centre
(A) PQRS (B) RQPS (C) PSQR
[S-1/7-B]

of the given sentence :

(D) 1 and 3

(D) Priest

(D) Climax

(D) Liutenant

(D) QRSP
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37.

38.

39.

40.

41.

42.

The cry of ‘pigs’ is called :

(A) bleat - (B) grunt
(C) bray (D) gibber
Choose the correct alternative :

May we have ___ pleasure of your company ?
(A) the (B) an (C) a
Indentify the underlined clause in the sentence :

The host already had taken dinner when the guest arrived.

(A) Adverb clause of time

(B) Adverb clause of place

(C) Adverb clause of manner

(D) Adverb clause of condition

Choose the correct ‘synonym’ of :

‘inexplicable’

(A) confusing (B) chaotic (C) unconnected

‘To fly off the handle’ means :

(A) to take off (B) to be indifferent

(D) no article

(D) unaccountable

(C) to dislocate | (D) to lose ohe’s temper

Choose the correct indirect speech of the given sentence :
The manager said, “Well, what can I do for you ?”
(A) The manager asked well what he could do for him.

(B) The manager wondered what he could do for him.

(C) The manager wanted to know what he could do for him.

(D) The manager said that what he couldn’t do for him.

[S-1/8-B]
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43. Choose the correct ‘Wh-Question’ to get the underlined part as an answer :

“He was dismissed from his service because they found him dishonest.”

(A) Why was he dismiss from his service ?
(B) Why he was dismissed from his service ?
(C) Why was he dismissed from his service ?
(D) Why he dismiss him from his service ?
44. The young one of ‘deer’ is called :
(A) Fawn (B) Cub (C) Calf (D) Cygnet

45. Select the combination of numbers so that letters arranged accordingly will form a
meaningful word : '

E L G N I M
1 2 3 4 5 6

(A) 312654 (B) 654321 (C) 653214 (D) 356214

Read the passage and choose the correct answer : [Ques. No. 46 to 50]

In the highest sense religiion is an intensely individual issue. But there is a national question
also. We must hold together. And we cannot hold together only on the strength of police
regulations. An internal regulator of conduct is absolutely necessary. Will men be good and
wise without the aid of religion ? As modern life has multiplied desires without the corrective
of a sense of spiritual values, knowledge of modern science does not reduce either greed or
lust. Indeed it has nothing to do with the criminal disturbances of the mind. On the contrary,
if finds fresh tools for greater indulgence in all forms of greed, lust and anger. It is true that
a sense of shame by itself often prevents over misconduct. But it does not go to the root
of the mischief: it does not stop undesirable mental activities. The only thing that can prevent
or restrain these evils is the religious sense.

46. The worst thing about modern science is that it has :
(A) produced dangerous weapons
(B) spread new superstitions
(C) contributed to the decline of our values

(D) discredited all religions

[S-1/9-B]
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47.

48.

49.

50.

S1.

52.

The statement “We must hold together” means that we should :

(A) be politically united (B) work together

(C) be spiritually united (D) keep up our nation’s prestige
The author holds that the perfect remedy for man’s evil propensities is a...
(A) sense of shame

(B) religious sense

(C) combinaiton of a sense of shame and religion

(D) sense of good conduct

According to the author, religion is essentially a :

(A) matter having national relevance

(B) body of rules and regulations

(C) social matter

(D) sacrifice of worldly desires

The author thinks that in the modern times :

(A) the police have grown very powerful

(B) peoples needs have increased

(C) politicians have become corrupt

(D) we are practising several faiths

o - 3 @ §EHEY A

THAIS o T WO @1 IR 2. |
(A) TAH (B) SUHRHH (C) as™ (D) 3trpd=

AT AT GHIErAT AW HIOTET WP GHIOT TG 3| 9
(A) dteiz 7 Fda - (B) Rfesr 7 #=Rmw
(C) WiwwT T scgfaw (D) ditee T rgffw
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62.

63.
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68.

69.

70.

71.
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73.

74.
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PSR THER FoRT THE IR 7
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BT TOC FTHOMAT TRINAT TIATEN 0T 9

(A) A ' (B) B (C) AB (D) O

Wi Sot iRt S Stomen woaE ¢

(A) F5F (B) dgenioresT (C) FupTiEsr (D) TEEE
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(A) #ERT Mg TR (B) dfear e

(C) @Wrt [Ewrg (D) et B

IS & WA Sf 7 Frpam & R Riseariar arsht gmrds 9w ai sigamer
SR ICER T B
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7, x, 21, 15 O7 FSAT YHING 3M@Ed a¥ x=t ThAq &I -

(A) S (B) 7 (C) 12 (D) 3
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W WM 99id @@ 9 §did Alear @@ 999 Bedr @

(A) 161 (B) 163 (C) 162 (D) 160
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Tt fea Redt 9
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Aeft 7 wEgst aten S aEiqdiT 99T U] S : 6 B, STl ST g enee
6 : 7 MR, X AN e 9@ fedar ¢

(A) 10 a¥ (B) 12 = (C) 13 a9 (D) 14 =¢
S WA SR 2250 YA @iET AGIT 15 W@ 9 | awity e ol ?
(A) 150 (B) 240 (C) 300 (D) 360

THI AOEET Th 9% @A 15% 767 2arl. @ awgar o e 5. 23 s
frdt TSt fewa et 2
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1 11 l . _}_ .
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(A) 3000 (B) 6000 (C) 300 (D) 2500
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95. 70+ (5x7) +3-1=Ffs ?
(A) 3 (B) 4 ©) 5 (D) 6

96. dF WEAT WHIUG A TGl F{US 7 T 28 IMRA, A WHAHUS B ?

(A) 4 (B) 14 (C) 24 (D) 21
97. 5 79 9 % 3% TR AUGA qOR EUMAT A9 IS HEATH WIWYA BT :
(A) 777 (B) 772 (C) 672 (D) 770
98. TSI WHTEHS BEHM Brbiomen Suid |l 642 FW. 3R, W A7 P fEwes
BT
(A) 18 <&, (B) 185 <.
(C) 36 =.EH. | (D) 12 =9
9. 35, From srden M wPyEws B
(A) 77 SXEAL. (B) 112 =&
(C) 126 =& (D) 154 <.+
100. ST 4! = 3¢ qr x99t feEd FwET
(A) 3 (B) 2 (©) 1 (D) 5
[S-1/15-B]

https://www.freshersnow.com/previous-year-question-papers/



AT (9 1 T4 TR...)

8. yeqRase fatsa Saen faRte i =8 S0 (6 9%) . weAqRaRariie ST
I S PO Hod BH BATH I B HOATAT IHAW Bt AT, 3@ A TEA T AR
JATAE AT T BT “qlrerined goner Rysri gy SoaeEay JaRmAge-82~
T AT SRATs FIATT A5 T SIS ST BHI Th JEFSHT SIRETETT 3001/ Rear sq1
UF TR W derar Rgw ury 2da.

9. WX YIAUCRAES! fawmrenr fafeq Fact I WU 97 HYUATYH! SHGARIAT & weAqRasT
W:Wﬁwﬁmwwﬁﬁ.ﬁmmmmm
YIRAEHT T AT FAEEDAr Wy (Rt ga) sl w Rear w9 s

HAEAWF  JATR.
AT 931
Wb, 101 “fafven” @r st @i sEEEE Stoar ?
(A) P IIHR ORI (B) ®@ T Wed HIohTar I
(C) adt IYPR T SATUTUTAL (D) SO HUATt FEIT STHOTRI.

U Y ARG IA “(B) BSIRT WEA HROATET 077 I IR, IS AT AT
I 4(B)” BT ANEE Wl gHO g & 101 we s w. ‘@) § 9w

O®OO0O O®®

I TEAA T WAYRARAIE TAF WOATIT JHET IACHHAIE BT Rl St
RATART FETDIEA! @T-AT FAFABEANT Fea ages quiaet Srifea wod
STATTET. FATHAT Fad HISAT AET Sieda qrow, dfger a1 a9 T9s =4,

HEAT HHTEIGT ATT /| SPACE FOR ROUGH WORK
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